1B2P
2B3P
2B4P
3B4P
3B5P
3B6P
4B6P
5B7P
6B8P

H2B4P
H3B4P
H3B5P
H3B6P
H4B6P
H5B7P
H6B8P

M2B4P
M3B4P
M3B5P
M3B6P
M4B6P
M4B7P
M5B8P
M6B8P

TOTAL

PHASE 1

TOTAL

1B2P
2B3P
2B4P
3B4P
3B5P
3B6P
4B6P
5B7P
6B8P

H2B4P
H3B4P
H3B5P
H3B6P
H4B6P
H5B7P
H6B8P

M2B4P
M3B4P
M3B5P
M3B6P
M4B6P
M4B7P
M5B8P
M6B8P

TOTAL

PHASE 2

TOTAL

1B2P
2B3P
2B4P
3B4P
3B5P
3B6P
4B6P
5B7P
6B8P

H2B4P
H3B4P
H3B5P
H3B6P
H4B6P
H5B7P
H6B8P

M2B4P
M3B4P
M3B5P
M3B6P
M4B6P
M4B7P
M5B8P
M6B8P

TOTAL

PHASE 3

- social
- market

- intermediate

TOTAL

1B2P
2B3P
2B4P
3B4P
3B5P
3B6P
4B6P
5B7P
6B8P

H2B4P
H3B4P
H3B5P
H3B6P
H4B6P
H5B7P
H6B8P

M2B4P
M3B4P
M3B5P
M3B6P
M4B6P
M4B7P
M5B8P
M6B8P

TOTAL




SOCIAL
1B - _
T 51 25%
3B = o
4B 2 o
5B : %
6B : >
total —

MARKET INTERMEDIATE

1B 64 36% 1B 0 0%
2B 77 44% 2B 0 0%
3B 31 18% 3B 10 100%
4B 5 3% 4B 0 0%
5B 0 0% 5B 0 0%
6B 0 0% 6B 0 0%
total 177 total 10

PHASE 2 I

S U

D B

A\

TOTAL MIX

1B - _
- 128 22%
3B 2 i
= 10 %
5B 0 >
6B : i
total —

PHASE 1 UNIT MIX

s 10 o
T 38 13%
» 15 o
4B . 5
5B 2 i
6B o
total =

PHASE 2 UNIT MIX

T as 14%
T 43 5%
3B 2 5%
4B 0 z
5B 2 1
6B 2 I
total —

PHASE 3 UNIT MIX

1B — _
T 47 To%
e 15 o
4B 2 <
5B 3 i
6B 0 ox
total =




